City Clerk

Bid Committee Bid Tab

Bid OCAT-WPA-2419 Ended At Aug 28, 2024 10:00:00 AM CDT CONSTRUCTION/OCAT - Drainage Improvements - Phase 1

Company:	Cimarron Construction Con LLC	npany, T.J. Campbell Constructi	on Co. SAC Services
Base Bid	\$2,628,840.51	\$2,145,587.85	\$2,809,105.75
Add Alternate No. 1	\$416,317.23	\$719,450.00	\$822,441.00
Add Alternate No. 2	\$374,673.73	\$1,045,950.00	\$752,875.00
TOTAL BID:	\$3,419,831.47	\$3,910,987.85	\$4,384,421.75

Company:	Wynn Construction Co., Inc	Brewer Construction Oklahoma LLC	C-P Integrated Services
Base Bid	\$2,975,111.20	\$2,897,485.00	\$4,041,284.50
Add Alternate No. 1	\$941,258.00	\$1,185,399.00	\$1,222,590.00
Add Alternate No. 2	\$824,638.00	\$1,291,202.00	\$1,348,715.00
TOTAL BID:	\$4,741,007.20	\$5,374,086.00	\$6,612,589.50

Company:	Southwest Water Works L.L.C.	
Base Bid	\$5,251,743.50	
Add Alternate No. 1	\$721,690.00	
Add Alternate No. 2	\$1,077,681.90	
TOTAL BID:	\$7,051,115.40	

Tresha Williams	Angee Wagner	Tim Alvarez
City Clerk	Purchasing Agent	Auditor

Potential Bid Defects Noted:

- #1 Anti-collusion affidavit not properly notarized
- #2 Bid Bond missing
- #3 Bid Bond incorrect awarding agency
- #4 Bid Bond insufficient amount
- #5 Business relationship affidavit not properly notarized

THE BID COMMITTEE DOES NOT REJECT OR ACCEPT BIDS. The noting or failing to note on the bid tabulation any defect by the Bid Committee is not conclusive of the validity, regularity, completeness or legality of any bid. Questions regarding bid defects or irregularities should be directed to the Municipal Counselor's Office at (405) 297-2451.

Originating Department shall:

- Carefully examine and evaluate all opened bids, including a review of potential defects noted by the Bid Committee; and
- 2. Contact your legal representative prior to recommending contract award based on a bid with any potential or perceived irregularity or defect; and
- 3. Prepare a memorandum to Council or its Trusts with recommendations regarding contract award, listing all bids opened and noting any defects; and
- Attach a copy of the Bid Committee's bid tabulation with the SIRE item recommending contract award as a non-published document for review by staff.

Bid #OCAT-WPA-2419 - Drainage Improvements - Phase 1

Creation Date **Jul 11, 2024** End Date **Aug 28, 2024 10:00:00 AM CDT**

Start Date Jul 26, 2024 9:16:36 AM CDT Awarded Date Not Yet Awarded

OCAT-WPA-241901-01 Base Bid: Excavation					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Cimarron Construction Company, LLC	First Offer - \$3.74	297412 / cubic yard	\$1,112,320.88	Υ	Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
T.J. Campbell Construction Co.	First Offer - \$3.95	297412 / cubic yard	\$1,174,777.40		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Brewer Construction Oklahoma LLC	First Offer - \$5.25	297412 / cubic yard	\$1,561,413.00	Υ	Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Bid Bond Attached			
SAC Services	First Offer - \$5.60	297412 / cubic yard	\$1,665,507.20	Υ	Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Digital Bid System Would Not Allow M		This Line I	tem The
Wynn Construction Co., Inc	First Offer - \$6.05	297412 / cubic yard	\$1,799,342.60	Υ	Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
C-P Integrated Services	First Offer - \$6.50	297412 / cubic yard	\$1,933,178.00		Y
Product Code: Agency Notes:	1	Supplier Product Code: Supplier Notes:	1		
Southwest Water Works L.L.C.	First Offer - \$12.00	297412 / cubic yard	\$3,568,944.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			

OCAT-WPA-241901-02 Base Bid: Embankment (15	% Compaction Factor)				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
T.J. Campbell Construction Co.	First Offer - \$1.45	8341 / cubic yard	\$12,094.45		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Cimarron Construction Company, LLC	First Offer - \$1.98	8341 / cubic yard	\$16,515.18		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Brewer Construction Oklahoma LLC	First Offer - \$4.00	8341 / cubic yard	\$33,364.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Wynn Construction Co., Inc	First Offer - \$4.00	8341 / cubic yard	\$33,364.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
SAC Services	First Offer - \$4.50	8341 / cubic yard	\$37,534.50		Y

Product Code:		Supplier Product Code:		
Agency Notes:		Supplier Notes:		
C-P Integrated Services	First Offer - \$7.50	8341 / cubic yard	\$62,557.50	Y
Product Code:		Supplier Product Code:		
Agency Notes:		Supplier Notes:		
Southwest Water Works L.L.C.	First Offer - \$12.00	8341 / cubic yard	\$100,092.00	Υ
Product Code:		Supplier Product Code:		
Agency Notes:		Supplier Notes:		

OCAT-WPA-241901-03 Base Bid: Type A Aggregate	e Base				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
T.J. Campbell Construction Co.	First Offer - \$76.50	844 / cubic yard	\$64,566.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
C-P Integrated Services	First Offer - \$78.50	844 / cubic yard	\$66,254.00		Y
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		
Brewer Construction Oklahoma LLC	First Offer - \$82.00	844 / cubic yard	\$69,208.00		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		
Cimarron Construction Company, LLC	First Offer - \$88.00	844 / cubic yard	\$74,272.00		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		
Southwest Water Works L.L.C.	First Offer - \$90.00	844 / cubic yard	\$75,960.00		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		
SAC Services	First Offer - \$96.00	844 / cubic yard	\$81,024.00		Y
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		
Wynn Construction Co., Inc	First Offer - \$110.00	844 / cubic yard	\$92,840.00		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Wynn Construction Co., Inc	First Offer - \$97.00	150 / square yard	\$14,550.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
T.J. Campbell Construction Co.	First Offer - \$100.00	150 / square yard	\$15,000.00		Y
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
SAC Services	First Offer - \$105.00	150 / square yard	\$15,750.00		Y
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Brewer Construction Oklahoma LLC	First Offer - \$140.00	150 / square yard	\$21,000.00		Y
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
C-P Integrated Services 👔	First Offer - \$160.00	150 / square yard	\$24,000.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Southwest Water Works L.L.C.	First Offer - \$200.00	150 / square yard	\$30,000.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Cimarron Construction Company, LLC	First Offer - \$217.00	150 / square yard	\$32,550.00		Υ

bid #OCAT-WPA-2419 -Drainage Improvements -

City of Oklahoma City and its Trusts

Product Code:	Supplier Product Code:
Agency Notes:	Supplier Notes:

OCAT-WPA-241901-05 Base Bid: Concrete Trickle	Channels (7' wide)				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Wynn Construction Co., Inc	First Offer - \$63.00	4508 / linear foot	\$284,004.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
C-P Integrated Services	First Offer - \$65.00	4508 / linear foot	\$293,020.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
T.J. Campbell Construction Co.	First Offer - \$72.00	4508 / linear foot	\$324,576.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Brewer Construction Oklahoma LLC	First Offer - \$85.00	4508 / linear foot	\$383,180.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
SAC Services	First Offer - \$85.00	4508 / linear foot	\$383,180.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Southwest Water Works L.L.C.	First Offer - \$120.00	4508 / linear foot	\$540,960.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Cimarron Construction Company, LLC	First Offer - \$168.00	4508 / linear foot	\$757,344.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			

OCAT-WPA-241901-06 Base Bid: Traffic Bound Sui	rface Course (Type A)					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
T.J. Campbell Construction Co.	First Offer - \$13.00	7432 / square yard	\$96,616.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Cimarron Construction Company, LLC	First Offer - \$14.00	7432 / square yard	\$104,048.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Brewer Construction Oklahoma LLC	First Offer - \$16.00	7432 / square yard	\$118,912.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
SAC Services	First Offer - \$16.75	7432 / square yard	\$124,486.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Southwest Water Works L.L.C.	First Offer - \$18.00	7432 / square yard	\$133,776.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Wynn Construction Co., Inc	First Offer - \$18.00	7432 / square yard	\$133,776.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
C-P Integrated Services 👔	First Offer - \$73.50	7432 / square yard	\$546,252.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				

OCAT-WPA-241901-07 Base Bid: Construction Staking							
Unit Price	Qty/Unit	Total Price	Attch.	Docs			
First Offer - \$6,037.00	1 / lump sum	\$6,037.00		Υ			
	Unit Price	Unit Price Qty/Unit	Unit Price Qty/Unit Total Price	Unit Price Qty/Unit Total Price Attch.			

Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Brewer Construction Oklahoma LLC	First Offer - \$22,774.00	1 / lump sum	\$22,774.00 Y		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Southwest Water Works L.L.C.	First Offer - \$30,000.00	1 / lump sum	\$30,000.00 Y		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Wynn Construction Co., Inc	First Offer - \$32,000.00	1 / lump sum	\$32,000.00 Y		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
C-P Integrated Services	First Offer - \$32,500.00	1 / lump sum	\$32,500.00 Y		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
T.J. Campbell Construction Co.	First Offer - \$40,000.00	1 / lump sum	\$40,000.00 Y		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
SAC Services	First Offer - \$42,100.00	1 / lump sum	\$42,100.00 Y		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		

OCAT-WPA-241901-08 Base Bid: Mobilization					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Wynn Construction Co., Inc	First Offer - \$48,000.00	1 / lump sum	\$48,000.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
T.J. Campbell Construction Co.	First Offer - \$95,000.00	1 / lump sum	\$95,000.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Cimarron Construction Company, LLC	First Offer - \$107,520.00	1 / lump sum	\$107,520.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
SAC Services	First Offer - \$193,500.00	1 / lump sum	\$193,500.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
C-P Integrated Services	First Offer - \$195,000.00	1 / lump sum	\$195,000.00		Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Brewer Construction Oklahoma LLC	First Offer - \$200,077.00	1 / lump sum	\$200,077.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Southwest Water Works L.L.C.	First Offer - \$300,000.00	1 / lump sum	\$300,000.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		

OCAT-WPA-241901-09 Base Bid: Pre & Post Construction Videos									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Cimarron Construction Company, LLC	First Offer - \$1,799.00	1 / lump sum	\$1,799.00		Υ				
Product Code:	Supplier Product Code:								
Agency Notes:		Supplier Notes:							
Wynn Construction Co., Inc	First Offer - \$2,000.00	1 / lump sum	\$2,000.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
C-P Integrated Services	First Offer - \$2,750.00	1 / lump sum	\$2,750.00		Υ				

Product Code:		Supplier Product Co	de:		
Agency Notes:	Supplier Notes:				
Southwest Water Works L.L.C.	First Offer - \$5,000.00	1 / lump sum	\$5,000.00	Υ	
Product Code:		Supplier Product Co	de:		
Agency Notes:		Supplier Notes:			
SAC Services	First Offer - \$5,500.00	1 / lump sum	\$5,500.00	Υ	
Product Code:		Supplier Product Co	de:		
Agency Notes:		Supplier Notes:			
T.J. Campbell Construction Co.	First Offer - \$9,000.00	1 / lump sum	\$9,000.00	Υ	
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Brewer Construction Oklahoma LLC	First Offer - \$26,260.00	1 / lump sum	\$26,260.00	Y	
Product Code:		Supplier Product Co	de:		
Agency Notes:		Supplier Notes:			

OCAT-WPA-241901-10 Base Bid: Reinforced Conc	rete Box Culvert (3-8'X5')					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Brewer Construction Oklahoma LLC	First Offer - \$2,502.00	33 / linear foot	\$82,566.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
SAC Services	First Offer - \$2,614.00	33 / linear foot	\$86,262.00		Υ	
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	le:			
C-P Integrated Services	First Offer - \$2,750.00	33 / linear foot	\$90,750.00		Υ	
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:					
Wynn Construction Co., Inc	First Offer - \$2,800.00	33 / linear foot	\$92,400.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
T.J. Campbell Construction Co.	First Offer - \$3,000.00	33 / linear foot	\$99,000.00		Υ	
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	le:			
Southwest Water Works L.L.C.	First Offer - \$3,500.00	33 / linear foot	\$115,500.00		Υ	
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	le:			
Cimarron Construction Company, LLC	First Offer - \$3,958.00	33 / linear foot	\$130,614.00		Υ	
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	le:			

OCAT-WPA-241901-11 Base Bid: Reinforced Conc	re	te Box Headwall/Wingwa	IIs (3'-8'X5')			
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
SAC Services		First Offer - \$15,528.80	2 / each	\$31,057.60		Υ
			Supplier Product Code: Supplier Notes:			
T.J. Campbell Construction Co.		First Offer - \$25,000.00	2 / each	\$50,000.00		Y
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
Brewer Construction Oklahoma LLC		First Offer - \$30,416.00	2 / each	\$60,832.00		Υ
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
Cimarron Construction Company, LLC		First Offer - \$47,514.00	2 / each	\$95,028.00		Y
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
C-P Integrated Services		First Offer - \$49,750.00	2 / each	\$99,500.00		Y
Product Code:			Supplier Product Co	ode:		

Agency Notes:		Supplier Notes:		
Southwest Water Works L.L.C.	First Offer - \$50,000.00	2 / each	\$100,000.00	Y
Product Code:		Supplier Product Co	ode:	
Agency Notes:		Supplier Notes:		
Wynn Construction Co., Inc	First Offer - \$50,000.00	2 / each	\$100,000.00	Υ
Product Code:		Supplier Product Co	ode:	
Agency Notes:		Supplier Notes:		

OCAT-WPA-241901-12 Base Bid: Pipe Handrail					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
SAC Services	First Offer - \$95.00	156 / linear foot	\$14,820.00		Y
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:				
Brewer Construction Oklahoma LLC	First Offer - \$150.00	156 / linear foot	\$23,400.00		Y
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		
Southwest Water Works L.L.C.	First Offer - \$150.00	156 / linear foot	\$23,400.00		Υ
Product Code: Agency Notes:	Supplier Product Code Supplier Notes:	::			
T.J. Campbell Construction Co.	First Offer - \$155.00	156 / linear foot	\$24,180.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Wynn Construction Co., Inc	First Offer - \$193.00	156 / linear foot	\$30,108.00		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	::		
C-P Integrated Services 🙀	First Offer - \$225.75	156 / linear foot	\$35,217.00		Υ
Product Code: Agency Notes:	-	Supplier Product Code Supplier Notes:	:		
Cimarron Construction Company, LLC	First Offer - \$337.00	156 / linear foot	\$52,572.00		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:: ::		

OCAT-WPA-241901-13 Base Bid: Structure Ren	noval (Concrete Pad)						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
T.J. Campbell Construction Co.	First Offer - \$2,000.00	1 / lump sum	\$2,000.00		Υ		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
Cimarron Construction Company, LLC	First Offer - \$5,976.00	1 / lump sum	\$5,976.00		Υ		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:				
SAC Services	First Offer - \$6,500.00	1 / lump sum	\$6,500.00		Υ		
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:						
C-P Integrated Services 🙀	First Offer - \$8,500.00	1 / lump sum	\$8,500.00		Y		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
Southwest Water Works L.L.C.	First Offer - \$20,000.00	1 / lump sum	\$20,000.00		Y		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:				
Wynn Construction Co., Inc	First Offer - \$20,000.00	1 / lump sum	\$20,000.00		Υ		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:				
Brewer Construction Oklahoma LLC	First Offer - \$20,280.00	1 / lump sum	\$20,280.00		Υ		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:				

OCAT-WPA-241901-14 Base Bid: Adjust Existing St	ructure (Grate Inlet)				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
T.J. Campbell Construction Co.	First Offer - \$2,000.00	1 / each	\$2,000.00		Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
C-P Integrated Services	First Offer - \$2,150.00	1 / each	\$2,150.00		Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Wynn Construction Co., Inc	First Offer - \$3,000.00	1 / each	\$3,000.00		Y
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:				
SAC Services	First Offer - \$3,500.00	1 / each	\$3,500.00		Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Southwest Water Works L.L.C.	First Offer - \$4,500.00	1 / each	\$4,500.00		Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Brewer Construction Oklahoma LLC	First Offer - \$5,070.00	1 / each	\$5,070.00		Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Cimarron Construction Company, LLC	First Offer - \$6,722.00	1 / each	\$6,722.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		

OCAT-WPA-241901-15 Base Bid: Type 1-A Rip-rap	(30" Thick)				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
SAC Services	First Offer - \$98.00	225 / square yard	\$22,050.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Brewer Construction Oklahoma LLC	First Offer - \$122.00	225 / square yard	\$27,450.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
C-P Integrated Services	First Offer - \$148.00	225 / square yard	\$33,300.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Southwest Water Works L.L.C.	First Offer - \$150.00	225 / square yard	\$33,750.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Cimarron Construction Company, LLC	First Offer - \$152.00	225 / square yard	\$34,200.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
T.J. Campbell Construction Co.	First Offer - \$225.00	225 / square yard	\$50,625.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Wynn Construction Co., Inc	First Offer - \$230.00	225 / square yard	\$51,750.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			

OCAT-WPA-241901-16 Base Bid: Clearing & Grubbing									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
T.J. Campbell Construction Co.	First Offer - \$3,500.00	1 / lump sum	\$3,500.00		Y				
Product Code:		Supplier Product Co	ode:						
Agency Notes:		Supplier Notes:							

SAC Services	First Offer - \$12,500.00	1 / lump sum	\$12,500.00	Υ	
Product Code:	Supplier Product Code:				
Agency Notes:		Supplier Notes:			
Cimarron Construction Company, LLC	First Offer - \$12,863.00	1 / lump sum	\$12,863.00	Y	
Product Code:		Supplier Product Co	ode:		
Agency Notes:		Supplier Notes:			
Southwest Water Works L.L.C.	First Offer - \$30,000.00	1 / lump sum	\$30,000.00	Y	
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Brewer Construction Oklahoma LLC	First Offer - \$125,063.00	1 / lump sum	\$125,063.00	Y	
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Wynn Construction Co., Inc	First Offer - \$140,000.00	1 / lump sum	\$140,000.00	Y	
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
C-P Integrated Services	First Offer - \$407,500.00	1 / lump sum	\$407,500.00	Y	
Product Code:		Supplier Product Co	ode:		
Agency Notes:		Supplier Notes:			

OCAT-WPA-241901-17 Base Bid: Sod					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Cimarron Construction Company, LLC	First Offer - \$3.45	100 / square yard	\$345.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
C-P Integrated Services 👔	First Offer - \$4.50	100 / square yard	\$450.00		Y
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:				
SAC Services	First Offer - \$7.50	100 / square yard	\$750.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
T.J. Campbell Construction Co.	First Offer - \$9.00	100 / square yard	\$900.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Wynn Construction Co., Inc	First Offer - \$12.50	100 / square yard	\$1,250.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Brewer Construction Oklahoma LLC	First Offer - \$14.00	100 / square yard	\$1,400.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Southwest Water Works L.L.C.	First Offer - \$15.00	100 / square yard	\$1,500.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			

OCAT-WPA-241901-18 Base Bid: Filter Fabric					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Wynn Construction Co., Inc	First Offer - \$1.10	11876 / square yard	\$13,063.60		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Cimarron Construction Company, LLC	First Offer - \$1.68	11876 / square yard	\$19,951.68		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
T.J. Campbell Construction Co.	First Offer - \$2.00	11876 / square yard	\$23,752.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
SAC Services	First Offer - \$2.00	11876 / square yard	\$23,752.00		Υ

Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
Brewer Construction Oklahoma LLC	First Offer - \$3.00	11876 / square yard	\$35,628.00	Υ		
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
Southwest Water Works L.L.C.	First Offer - \$3.00	11876 / square yard	\$35,628.00	Υ		
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
C-P Integrated Services	First Offer - \$6.00	11876 / square yard	\$71,256.00	Y		
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				

OCAT-WPA-241901-19 Base Bid: Ditch Check					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Southwest Water Works L.L.C.	First Offer - \$10.00	950 / linear foot	\$9,500.00		Υ
Product Code: Agency Notes:	Supplier Product Code Supplier Notes:	:			
SAC Services	First Offer - \$12.50	950 / linear foot	\$11,875.00		Y
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		
Cimarron Construction Company, LLC	First Offer - \$14.34	950 / linear foot	\$13,623.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
T.J. Campbell Construction Co.	First Offer - \$16.00	950 / linear foot	\$15,200.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
C-P Integrated Services	First Offer - \$16.50	950 / linear foot	\$15,675.00		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		
Brewer Construction Oklahoma LLC	First Offer - \$17.00	950 / linear foot	\$16,150.00		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		
Wynn Construction Co., Inc	First Offer - \$20.00	950 / linear foot	\$19,000.00		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	•		

OCAT-WPA-241901-20 Base Bid: Silt Fence						
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Cimarron Construction Company, LLC	Π	First Offer - \$1.79	12463 / linear foot	\$22,308.77		Υ
Product Code:			Supplier Product Code:			
Agency Notes:			Supplier Notes:			
T.J. Campbell Construction Co.		First Offer - \$2.00	12463 / linear foot	\$24,926.00		Υ
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
Brewer Construction Oklahoma LLC		First Offer - \$2.00	12463 / linear foot	\$24,926.00		Υ
Product Code:			Supplier Product Code:			
Agency Notes:			Supplier Notes:			
SAC Services		First Offer - \$2.25	12463 / linear foot	\$28,041.75		Υ
Product Code:			Supplier Product Code:			
Agency Notes:			Supplier Notes:			
Wynn Construction Co., Inc	Π	First Offer - \$3.00	12463 / linear foot	\$37,389.00		Υ
Product Code:			Supplier Product Code:			
Agency Notes:			Supplier Notes:			
Southwest Water Works L.L.C.		First Offer - \$4.50	12463 / linear foot	\$56,083.50		Y

Product Code:		Supplier Product Code:		
Agency Notes:		Supplier Notes:		
C-P Integrated Services	First Offer - \$5.00	12463 / linear foot	\$62,315.00	Y
Product Code:		Supplier Product Code:		
Agency Notes:		Supplier Notes:		

OCAT-WPA-241901-21 Base Bid: Construction Ent	erance					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
T.J. Campbell Construction Co.	First Offer - \$2,200.00	1 / each	\$2,200.00		Υ	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
SAC Services	First Offer - \$3,500.00	1 / each	\$3,500.00		Υ	
Product Code:		Supplier Product Co	ode:			
Agency Notes:		Supplier Notes:				
Cimarron Construction Company, LLC	First Offer - \$3,588.00	1 / each	\$3,588.00		Y	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
Wynn Construction Co., Inc	First Offer - \$4,000.00	1 / each	\$4,000.00		Y	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
C-P Integrated Services	First Offer - \$4,975.00	1 / each	\$4,975.00		Y	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
Southwest Water Works L.L.C.	First Offer - \$5,500.00	1 / each	\$5,500.00		Υ	
Product Code:		Supplier Product Co	ode:			
Agency Notes:		Supplier Notes:				
Brewer Construction Oklahoma LLC	First Offer - \$8,460.00	1 / each	\$8,460.00		Υ	
Product Code:		Supplier Product Co	ode:			
Agency Notes:		Supplier Notes:				

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Wynn Construction Co., Inc	First Offer - \$785.00	1 / each	\$785.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Cimarron Construction Company, LLC	First Offer - \$861.00	1 / each	\$861.00		Υ	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:			
T.J. Campbell Construction Co.	First Offer - \$2,600.00	1 / each	\$2,600.00		Υ	
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:					
C-P Integrated Services 🙀	First Offer - \$4,500.00	1 / each	\$4,500.00		Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Southwest Water Works L.L.C.	First Offer - \$5,500.00	1 / each	\$5,500.00		Υ	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:			
SAC Services	First Offer - \$7,600.00	1 / each	\$7,600.00		Υ	
		Supplier Product C Supplier Notes:	ode:			
Brewer Construction Oklahoma LLC	First Offer - \$17,520.00	1 / each	\$17,520.00		Υ	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:			

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
SAC Services	First Offer - \$15.90	523 / square yard	\$8,315.70		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Brewer Construction Oklahoma LLC	First Offer - \$24.00	523 / square yard	\$12,552.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
T.J. Campbell Construction Co.	First Offer - \$25.00	523 / square yard	\$13,075.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Cimarron Construction Company, LLC	First Offer - \$34.00	523 / square yard	\$17,782.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Wynn Construction Co., Inc	First Offer - \$43.00	523 / square yard	\$22,489.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Southwest Water Works L.L.C.	First Offer - \$50.00	523 / square yard	\$26,150.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
C-P Integrated Services 🙀	First Offer - \$95.00	523 / square yard	\$49,685.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			

OCAT-WPA-241902-01 Add Alternate No. 1: Type	A Salvaged Topsoil					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Cimarron Construction Company, LLC	First Offer - \$77,981.00	1 / lump sum	\$77,981.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Southwest Water Works L.L.C.	First Offer - \$85,000.00	1 / lump sum	\$85,000.00		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			
T.J. Campbell Construction Co.	First Offer - \$215,000.00	1 / lump sum	\$215,000.00		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			
SAC Services	First Offer - \$320,100.00	1 / lump sum	\$320,100.00		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			
Wynn Construction Co., Inc	First Offer - \$434,585.00	1 / lump sum	\$434,585.00		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			
Brewer Construction Oklahoma LLC	First Offer - \$440,580.00	1 / lump sum	\$440,580.00		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			
C-P Integrated Services	First Offer - \$455,750.00	1 / lump sum	\$455,750.00		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			

OCAT-WPA-241902-02 Add Alternate No. 1: Seeding							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
C-P Integrated Services	First Offer - \$452.00	95 / acre	\$42,940.00		Y		
Product Code:		Supplier Product Co	ode:				
Agency Notes:		Supplier Notes:					
SAC Services	First Offer - \$490.00	95 / acre	\$46,550.00		Y		

5 1				
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	
Wynn Construction Co., Inc	First Offer - \$867.00	95 / acre	\$82,365.00	Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	
T.J. Campbell Construction Co.	First Offer - \$990.00	95 / acre	\$94,050.00	Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	
Cimarron Construction Company, LLC	First Offer - \$1,295.33	95 / acre	\$123,056.35	Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	
Southwest Water Works L.L.C.	First Offer - \$1,500.00	95 / acre	\$142,500.00	Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	
Brewer Construction Oklahoma LLC	First Offer - \$2,940.00	95 / acre	\$279,300.00	Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	

OCAT-WPA-241902-03 Add Alternate No. 1: Fertiliz	zer				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Southwest Water Works L.L.C.	First Offer - \$1,000.00	19/ton	\$19,000.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
T.J. Campbell Construction Co.	First Offer - \$1,100.00	19 / ton	\$20,900.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
SAC Services	First Offer - \$1,125.00	19/ton	\$21,375.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Wynn Construction Co., Inc	First Offer - \$1,197.00	19/ton	\$22,743.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Cimarron Construction Company, LLC	First Offer - \$1,887.42	19/ton	\$35,860.98		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
C-P Integrated Services	First Offer - \$2,600.00	19 / ton	\$49,400.00		Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Brewer Construction Oklahoma LLC	First Offer - \$9,801.00	19 / ton	\$186,219.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		

OCAT-WPA-241902-04 Add Alternate No. 1: Mulch							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Cimarron Construction Company, LLC	First Offer - \$1,888.62	95 / acre	\$179,418.90		Υ		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:				
Brewer Construction Oklahoma LLC	First Offer - \$2,940.00	95 / acre	\$279,300.00		Υ		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:				
T.J. Campbell Construction Co.	First Offer - \$4,100.00	95 / acre	\$389,500.00		Υ		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:				
Wynn Construction Co., Inc	First Offer - \$4,227.00	95 / acre	\$401,565.00		Υ		
Product Code:		Supplier Product Co	ode:				

Agency Notes:		Supplier Notes:		
SAC Services	First Offer - \$4,572.80	95 / acre	\$434,416.00	Υ
Product Code:		Supplier Product Co	ode:	
Agency Notes:		Supplier Notes:		
Southwest Water Works L.L.C.	First Offer - \$5,002.00	95 / acre	\$475,190.00	Υ
Product Code:		Supplier Product Co	ode:	
Agency Notes:		Supplier Notes:		
C-P Integrated Services	First Offer - \$7,100.00	95 / acre	\$674,500.00	Υ
Product Code:		Supplier Product Co	ode:	
Agency Notes:		Supplier Notes:		

OCAT-WPA-241903-01 Add Alternate No. 2: Seed					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
C-P Integrated Services 🙀	First Offer - \$452.00	95 / acre	\$42,940.00		Y
Product Code:		Supplier Product C	Code:		
Agency Notes:		Supplier Notes:			
SAC Services	First Offer - \$490.00	95 / acre	\$46,550.00		Υ
Product Code:		Supplier Product C	Code:		
Agency Notes:		Supplier Notes:			
T.J. Campbell Construction Co.	First Offer - \$990.00	95 / acre	\$94,050.00		Υ
Product Code:		Supplier Product C	Code:		
Agency Notes:		Supplier Notes:			
Cimarron Construction Company, LLC	First Offer - \$1,295.33	95 / acre	\$123,056.35		Y
Product Code:		Supplier Product C	Code:		
Agency Notes:		Supplier Notes:			
Southwest Water Works L.L.C.	First Offer - \$1,500.00	95 / acre	\$142,500.00		Y
Product Code:		Supplier Product C	Code:		
Agency Notes:		Supplier Notes:			
Wynn Construction Co., Inc	First Offer - \$2,268.00	95 / acre	\$215,460.00		Y
Product Code:		Supplier Product C	Code:		
Agency Notes:		Supplier Notes:			
Brewer Construction Oklahoma LLC	First Offer - \$5,097.00	95 / acre	\$484,215.00		Υ
Product Code:		Supplier Product C	Code:		
Agency Notes:		Supplier Notes:			

OCAT-WPA-241903-02 Add Alternate No. 2: Fertilizer								
Supplier		Unit Price	Qty/Unit		Total Price	Attch.	Docs	
Southwest Water Works L.L.C.		First Offer - \$1,000.00	19 / ton		\$19,000.00		Υ	
Product Code:			Supplier Product Co	ode:				
Agency Notes:			Supplier Notes:					
T.J. Campbell Construction Co.		First Offer - \$1,100.00	19 / ton		\$20,900.00		Y	
Product Code:			Supplier Product Co	ode:				
Agency Notes:			Supplier Notes:					
SAC Services		First Offer - \$1,125.00	19/ton		\$21,375.00		Υ	
Product Code:			Supplier Product Co	ode:				
Agency Notes:			Supplier Notes:					
Cimarron Construction Company, LLC		First Offer - \$1,887.42	19/ton		\$35,860.98		Υ	
Product Code:			Supplier Product Code:					
Agency Notes:			Supplier Notes:					
C-P Integrated Services 🙀		First Offer - \$2,600.00	19 / ton		\$49,400.00		Υ	
Product Code:			Supplier Product Code:					
Agency Notes:			Supplier Notes:					
Wynn Construction Co., Inc		First Offer - \$4,247.00	19 / ton		\$80,693.00		Υ	
Product Code:			Supplier Product Co	ode:				

Agency Notes:		Supplier Notes:			
Brewer Construction Oklahoma LLC	First Offer - \$16,988.00	19 / ton	\$322,772.00		Y
Product Code:	Supplier Product Code:				
Agency Notes:		Supplier Notes:			

OCAT-WPA-241903-03 Add Alternate No. 2: H	lydromulch (Proganics)				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Cimarron Construction Company, LLC	First Offer - \$2,271.12	95 / acre	\$215,756.40		Y
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:		
Brewer Construction Oklahoma LLC	First Offer - \$5,097.00	95 / acre	\$484,215.00		Υ
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:		
Wynn Construction Co., Inc	First Offer - \$5,563.00	95 / acre	\$528,485.00		Υ
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:		
SAC Services	First Offer - \$7,210.00	95 / acre	\$684,950.00		Υ
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:		
Southwest Water Works L.L.C.	First Offer - \$9,644.02	95 / acre	\$916,181.90		Υ
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:		
T.J. Campbell Construction Co.	First Offer - \$9,800.00	95 / acre	\$931,000.00	Υ	Υ
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:		
C-P Integrated Services	First Offer - \$13,225.00	95 / acre	\$1,256,375.00		Y
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:		

Supplier Totals

Fax 405-686-0882

Supplier Total	3		
f Cimarron C	onstruction Company, LLC	\$3,419,831.47 (30/30 items	s)
Bid Contact	Don E Noble DNoble@cimarroncco.com Ph 405-728-1555 Fax 405-728-5026	Address 3501 NE. 63rd Street Oklahoma City, OK 7312	1
Qualifications	OKC PRE-QUALIFIED CONTRACTORS		
Agency Notes	:	Supplier Notes:	Head Attch:
f T.J. Campbe	ll Construction Co.	\$3,910,987.85 (30/30 items)	
Bid Contact	Donnie Dorn TJCESTIMATING@TJCAMPBELL.COM Ph 405-672-6768 Fax 405-513-6786	Address PO Box 3788 Edmond, OK 73083	
Qualifications	OKC PRE-QUALIFIED CONTRACTORS		
Agency Notes	:		lead Attch:
f SAC Service	s	\$4,384,421.75 (30/30	items)
Bid Contact	Yime Favela arturo@sacservicesinc.com Ph 405-682-4849	Address 3600 S Ross Ave Oklahoma City, OK 7311 9	9

Qualifications	OKC PRE-QUALIFIED CONTRACTORS						
Bid Bond	(Status: A bond with the supplied contract id was not found)						
Bid Notes	Digital Bid Bond Is Attached To The 1st Line Item The System	n Would Not Allow Me To Submit It					
Agency Notes:		Supplier Notes: Digital Bid Bond Is Attached To The 1s Item The System Would Not Allow Me Submit It	_				
f Wynn Const	ruction Co., Inc	\$4,741,007.20 (30/30 items)					
Bid Contact	Rick Thompson bid@wynnconstruction.com Ph 405-753-1120	Address 11901 North Eastern Ave. Oklahoma City, OK 73131					
Qualifications	OKC PRE-QUALIFIED CONTRACTORS						
Agency Notes:		Supplier Notes:	Head Attch:				
f Brewer Con	struction Oklahoma LLC	\$5,374,086.00 (30/30 items)					
Bid Contact	Shane Smith michael@brewerok.com Ph 405-787-4962 Fax 405-495-8972	Address 8301 sw 8th oklahoma city, OK 73128					
Qualifications	OKC PRE-QUALIFIED CONTRACTORS						
Agency Notes:		Supplier Notes:	Head Attch:				
Agency Notes: f C-P Integrat		Supplier Notes: \$6,612,589.50 (30/30 items	0				
f C-P Integrat Bid Contact			0				
f C-P Integrat Bid Contact Qualifications	ed Services Durinda Fisher dfisher@cpiokc.com Ph 405-732-0532 OKC PRE-QUALIFIED CONTRACTORS (Status: Authorized on Aug 27, 2024)	\$6,612,589.50 (30/30 items Address 3007 NW 63rd Street, Ste 205	0				
f C-P Integrat Bid Contact Qualifications Bid Bond Agency Notes:	ed Services Durinda Fisher dfisher@cpiokc.com Ph 405-732-0532 OKC PRE-QUALIFIED CONTRACTORS (Status: Authorized on Aug 27, 2024)	\$6,612,589.50 (30/30 items Address 3007 NW 63rd Street, Ste 205 Oklahoma City, OK 73116	Head				
f C-P Integrat Bid Contact Qualifications Bid Bond Agency Notes: f Southwest V Bid Contact	ed Services Durinda Fisher dfisher@cpiokc.com Ph 405-732-0532 OKC PRE-QUALIFIED CONTRACTORS (Status: Authorized on Aug 27, 2024)	\$6,612,589.50 (30/30 items Address 3007 NW 63rd Street, Ste 205 Oklahoma City, OK 73116 Supplier Notes:	Head				

^{**}All bids/proposals submitted for the designated project are reflected on this tabulation sheet. However, the listing of the bid/proposal on this tabulation sheet shall not be construed as a comment on the responsiveness of such bid/proposal or as any indication that the agency accepts such bid/proposal as being responsive. The agency will make a determination as to the responsiveness of the vendor responses submitted based upon compliance with all applicable laws, purchasing guidelines and project documents, including but not limited to the project specifications and contract documents. The agency will notify the successful vendor upon award of the contract and, as according to the law, all bid/proposal responses received may be available for inspection at that time.

THE BID COMMITTEE WILL MEET IN THE CITY CLERK'S CONFERENCE ROOM, 200 N. WALKER 2ND FLOOR, MUNICIPAL BUILDING, AT 10:00 A.M. OR LATER.

City Clerk

Bid Committee Bid Tab

Bid OCAT WRWA 2429 Ended At Aug 28, 2024 10:00:00 AM CDT CONSTRUCTION/OCAT - Switch 49970 Replacement

Company:	LIBRA ELECTRIC		
OCAT WRWA 2429	\$429,800.00		
TOTAL BID:	\$429,800.00		
Tresha Williams	Angee Wag		Tim Alvarez
City Clerk	Purchasing	Agent A	uditor

Potential Bid Defects Noted:

- #1 Anti-collusion affidavit not properly notarized
- #2 Bid Bond missing
- #3 Bid Bond incorrect awarding agency
- #4 Bid Bond insufficient amount
- #5 Business relationship affidavit not properly notarized

THE BID COMMITTEE DOES NOT REJECT OR ACCEPT BIDS. The noting or failing to note on the bid tabulation any defect by the Bid Committee is not conclusive of the validity, regularity, completeness or legality of any bid. Questions regarding bid defects or irregularities should be directed to the Municipal Counselor's Office at (405) 297-2451.

Originating Department shall:

- Carefully examine and evaluate all opened bids, including a review of potential defects noted by the Bid Committee;
- 2. Contact your legal representative prior to recommending contract award based on a bid with any potential or perceived irregularity or defect; and
- 3. Prepare a memorandum to Council or its Trusts with recommendations regarding contract award, listing all bids opened and noting any defects; and
- 4. Attach a copy of the Bid Committee's bid tabulation with the SIRE item recommending contract award as a non-published document for review by staff.

Bid #OCAT WRWA 2429 - Switch 49970 Replacement

Creation Date **Jul 2, 2024** End Date **Aug 28, 2024 10:00:00 AM CDT**

Start Date Jul 26, 2024 9:16:36 AM CDT Awarded Date Not Yet Awarded

OCAT WRWA 242901-01 OCAT WRWA 2429: Base Bid					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
LIBRA ELECTRIC	First Offer - \$429,800.00	1 / lump sum	\$429,800.00	Υ	Y
Product Code:		Supplier Product Code	e:		
Agency Notes:	Supplier Notes:				

Supplier Totals

f LIBRA ELECTRIC \$429,800.00			
Bid Contact	David Ware sales@libraelectric.net Ph 405-949-9371 Fax 405-949-9373	Address 4634 ENTERPRISE DRIVE OKLAHOMA CITY, OK 73128	
Qualifications	CS ARCH ENG OKC PRE-QUALIFIED CONTRACTORS		
Agency Notes	:	Supplier Notes:	Head Attch:

**All bids/proposals submitted for the designated project are reflected on this tabulation sheet. However, the listing of the bid/proposal on this tabulation sheet shall not be construed as a comment on the responsiveness of such bid/proposal or as any indication that the agency accepts such bid/proposal as being responsive. The agency will make a determination as to the responsiveness of the vendor responses submitted based upon compliance with all applicable laws, purchasing guidelines and project documents, including but not limited to the project specifications and contract documents. The agency will notify the successful vendor upon award of the contract and, as according to the law, all bid/proposal responses received may be available for inspection at that time.

THE BID COMMITTEE WILL MEET IN THE CITY CLERK'S CONFERENCE ROOM, 200 N. WALKER 2ND FLOOR, MUNICIPAL BUILDING, AT 10:00 A.M. OR LATER.

Bid Committee Bid Tab

City Clerk

Bid OCAT WRWA 2500 Ended At Aug 28, 2024 10:00:00 AM CDT CONSTRUCTION/OCAT - Thomas P. Stafford Building Emergency Lighting

Company:	Electrical Solutions of Oklahoma, Inc.	
OCAT WRWA 2500	\$242,000.00	
TOTAL BID:	\$242,000.00	
Tresha Williams City Clerk	Angee V Purchasir	Tim Alvarez

Potential Bid Defects Noted:

- #1 Anti-collusion affidavit not properly notarized
- #2 Bid Bond missing
- #3 Bid Bond incorrect awarding agency
- #4 Bid Bond insufficient amount
- #5 Business relationship affidavit not properly notarized

THE BID COMMITTEE DOES NOT REJECT OR ACCEPT BIDS. The noting or failing to note on the bid tabulation any defect by the Bid Committee is not conclusive of the validity, regularity, completeness or legality of any bid. Questions regarding bid defects or irregularities should be directed to the Municipal Counselor's Office at (405) 297-2451.

Originating Department shall:

- Carefully examine and evaluate all opened bids, including a review of potential defects noted by the Bid Committee; and
- 2. Contact your legal representative prior to recommending contract award based on a bid with any potential or perceived irregularity or defect; and
- 3. Prepare a memorandum to Council or its Trusts with recommendations regarding contract award, listing all bids opened and noting any defects; and
- 4. Attach a copy of the Bid Committee's bid tabulation with the SIRE item recommending contract award as a non-published document for review by staff.

Bid #OCAT WRWA 2500 - Thomas P. Stafford Building Emergency Lighting

Creation Date **Jul 2, 2024** End Date **Aug 28, 2024 10:00:00 AM CDT**

Start Date Jul 26, 2024 9:16:36 AM CDT Awarded Date Not Yet Awarded

OCAT WRWA 250001-01 OCAT WRWA 2500: Base Bid					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Electrical Solutions of Oklahoma, Inc.	First Offer - \$242,000.00	1 / lump sum	\$242,000.00	Υ	Υ
Product Code:	Supplier Product Co	de: Electrical			
Agency Notes:	Supplier Notes:				

Supplier Totals

f Electrical Sc	olutions of Oklahoma, Inc.	\$242,000.00	
Bid Contact	Josh Kardatzke josh.kardatzke@electricalsolutionsok.com Ph 405-919-0155	Address PO 10948 Midwest City, OK 73140	
Qualifications	CS ARCH ENG		
Bid Bond	(Status: This bid bond could not be verified)		
Bid Notes	Please see attachements		
Agency Notes	:	Supplier Notes: Please see attachements	Head Attch:

^{**}All bids/proposals submitted for the designated project are reflected on this tabulation sheet. However, the listing of the bid/proposal on this tabulation sheet shall not be construed as a comment on the responsiveness of such bid/proposal or as any indication that the agency accepts such bid/proposal as being responsive. The agency will make a determination as to the responsiveness of the vendor responses submitted based upon compliance with all applicable laws, purchasing guidelines and project documents, including but not limited to the project specifications and contract documents. The agency will notify the successful vendor upon award of the contract and, as according to the law, all bid/proposal responses received may be available for inspection at that time.

Bid Committee Bid Tab

THE BID COMMITTEE WILL MEET IN THE CITY CLERK'S CONFERENCE ROOM, 200 N. WALKER 2ND FLOOR, MUNICIPAL BUILDING, AT 10:00 A.M. OR LATER.

Bid #25711 - REPAIR AND REPLACEMENT OF RESILIENT OUTDOOR PLAYGROUND SAFETY SURFACING

Start Date Aug 7, 2024 7:41:15 AM CDT Awarded Date Not Yet Awarded

Safety	Surface			\$134.50 (14/39 items)	
Bid Contact Gary Caskey safetysurface@cox.net Ph 405-755-1711		Address 3009 Raintree Rd Oklahoma City, OK 73120			
Agency	Notes:	Supplier Notes:			
ltem #	Line Item	Unit Price	Qty/Unit	Total Price	
25711- -01-01	Safety Surfacing Pricing: See Item 12. A in the technical specifications for details - First Offer	\$13.45	1 / square foot	\$13.45	
Produc Agency		Supplier Product Code: Supplier Notes: Re-Tech M	Ianufacturing		
25711- -01-02	Safety Surfacing Pricing: See Item 12. A in the technical specifications for details - First Offer	\$13.45	1 / square foot	\$13.45	
Product Agency		Supplier Product Code: Supplier Notes:			
25711- -01-03	Safety Surfacing Pricing: See Item 12. A in the technical specifications for details - First Offer	\$13.45	1 / square foot	\$13.45	
Produc Agency		Supplier Product Code: Supplier Notes:			
25711- -01-04	Safety Surfacing Pricing: See Item 12. A in the technical specifications for details - First Offer	\$13.45	1 / square foot	\$13.45	
Produc Agency		Supplier Product Code: Supplier Notes:			
25711- -01-05	Safety Surfacing Pricing: See Item 12. A in the technical specifications for details - First Offer	\$13.45	1 / square foot	\$13.45	
Product Agency		Supplier Product Code: Supplier Notes:			
25711- -01-06	Safety Surfacing Pricing: See Item 12. B in the technical specifications for details - First Offer	\$13.45	1 / square foot	\$13.45	
Product Agency		Supplier Product Code: Supplier Notes:			
25711- -01-07	Safety Surfacing Pricing: See Item 12. B in the technical specifications for details - First Offer	\$13.45	1 / square foot	\$13.45	
Produc Agency		Supplier Product Code: Supplier Notes:			
25711- -01-08	Safety Surfacing Pricing: See Item 12. B in the technical specifications for details - First Offer	\$13.45	1 / square foot	\$13.45	
Produc Agency		Supplier Product Code: Supplier Notes:			
25711-	Safety Surfacing Pricing: See Item 12. B in the technical	\$13.45	1 / square	\$13.45	

LACEME	ENT OF	rusts		
-01-09	specifications for details - First Offer		foot	
Produc Agency		Supplier Product Code: Supplier Notes:		
25711- -01-10	Safety Surfacing Pricing: See Item 12. B in the technical specifications for details - First Offer	\$13.45	1 / square foot	\$13.45
Produc Agency		Supplier Product Code: Supplier Notes:		
25711- -01-11	Safety Surfacing Pricing: See Item 12. C in the technical specifications for details			No Bids
Agency	Notes:	Supplier Product Code: Supplier Notes:		
25711- -01-12	Safety Surfacing Pricing: See Item 12. C in the technical specifications for details			No Bids
Agency	Notes:	Supplier Product Code: Supplier Notes:		
25711- -01-13	Safety Surfacing Pricing: See Item 12. C in the technical specifications for details			No Bids
Agency	Notes:	Supplier Product Code: Supplier Notes:		
25711- -01-14	Safety Surfacing Pricing: See Item 12. C in the technical specifications for details			No Bids
Agency	Notes:	Supplier Product Code: Supplier Notes:		
25711- -01-15	Safety Surfacing Pricing: See Item 12. C in the technical specifications for details			No Bids
Agency	Notes:	Supplier Product Code: Supplier Notes:		
25711- -01-16	Safety Surfacing Pricing: See Item 12. D in the technical specifications for details			No Bids
Agency	Notes:	Supplier Product Code: Supplier Notes:		
25711- -01-17	Safety Surfacing Pricing: See Item 12. D in the technical specifications for details			No Bids
Agency	Notes:	Supplier Product Code: Supplier Notes:		
25711- -01-18	Safety Surfacing Pricing: See Item 12. D in the technical specifications for details			No Bids
Agency	Notes:	Supplier Product Code: Supplier Notes:		
25711- -01-19	Safety Surfacing Pricing: See Item 12. D in the technical specifications for details			No Bids
Agency	Notes:	Supplier Product Code: Supplier Notes:		
25711- -01-20	Safety Surfacing Pricing: See Item 12. D in the technical specifications for details			No Bids
Agency	Notes:	Supplier Product Code: Supplier Notes:		
25711- -01-21	Safety Surfacing Pricing: See Item 12. E in the technical specifications for details			No Bids
Agency	Notes:	Supplier Product Code: Supplier Notes:		
25711- -01-22	Safety Surfacing Pricing: See Item 12. E in the technical specifications for details			No Bids
Agency	Notes:	Supplier Product Code: Supplier Notes:		

DIOLINILITY OF	ito Tradio		
25711- Safety Surfacing Pricing: See Item 12. E in the technica -01-23 specifications for details	I		No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:		
25711- Safety Surfacing Pricing: See Item 12. E in the technica specifications for details	I		No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:		
25711- Safety Surfacing Pricing: See Item 12. E in the technica specifications for details	I		No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:		
25711- Safety Surfacing Pricing: See Item 12. F in the technica specifications for details	I		No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:		
25711- Safety Surfacing Pricing: See Item 12. F in the technica -01-27 specifications for details	I		No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:		
25711- Safety Surfacing Pricing: See Item 12. F in the technica specifications for details	I		No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:		
25711- Safety Surfacing Pricing: See Item 12. F in the technica specifications for details	I		No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:		
25711- Safety Surfacing Pricing: See Item 12. F in the technica specifications for details	I		No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:		
25711- Safety Surfacing Pricing: See Item 12. G in the technical specifications for details	al		No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:		
25711- Safety Surfacing Pricing: See Item 12. G in the technica -01-32 specifications for details	al		No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:		
25711- Safety Surfacing Pricing: See Item 12. G in the technical specifications for details	al		No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:		
25711- Safety Surfacing Pricing: See Item 12. G in the technica -01-34 specifications for details	al		No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:		
25711- Safety Surfacing Pricing: See Item 12. G in the technical specifications for details	la la		No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:		
			Lot Total: \$134.50
Item Line Item	Unit Price	Qty/Unit	Total Price

Softroc of OKC

Agency Notes:

25711-

Bid Contact **Heidi Clark**

okc@softroc.com

City of Oklahoma City and its Trusts

#				
25711- -02-01	Bid Attachments: Product Specifications and Data - First Offer		1 / each	
Product Agency		Supplier Product Code: Supplier Notes:		
25711- -02-02	Bid Attachments: Warranty - First Offer		1 / each	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: new surface(AREA OF COMPLETION)one year Repair/patchworkno warranty		
25711- -02-03	Bid Attachments: Installer Qualifications - First Offer		1 / each	
Product Agency		Supplier Product Code: Supplier Notes: 22 YEARS (AND REC.	OF EXPERIENCI	E, 18YEARS WITH OKC PARKS
25711- -02-04	Bid Attachments: W-9 - First Offer		1 / each	
Product Agency	 	Supplier Product Code: Supplier Notes:		
				Lot Total: \$0.00

\$832.50 (29/39 items)

\$39.00

Address 3450 NW 18th Street

Newcastle, OK 73065

	Ph 405-876-7325			
Agency	Notes:	Supplier Notes:		
Item #	Line Item	Unit Price	Qty/Unit	Total Price
25711- -01-01	Safety Surfacing Pricing: See Item 12. A in the technical specifications for details - First Offer		1 / square foot	\$35.00
Produc Agency		Supplier Product Code: Supplier Notes:		
25711- -01-02	Safety Surfacing Pricing: See Item 12. A in the technical specifications for details - First Offer	\$35.00	1 / square foot	\$35.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
25711- -01-03	Safety Surfacing Pricing: See Item 12. A in the technical specifications for details - First Offer		1 / square foot	\$30.00
Product Agency		Supplier Product Code: Supplier Notes:		
25711- -01-04	Safety Surfacing Pricing: See Item 12. A in the technical specifications for details - First Offer	\$25.00	1 / square foot	\$25.00
Product Agency		Supplier Product Code: Supplier Notes:		
25711- -01-05	Safety Surfacing Pricing: See Item 12. A in the technical specifications for details - First Offer		1 / square foot	\$22.50
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
25711- -01-06	Safety Surfacing Pricing: See Item 12. B in the technical specifications for details - First Offer	\$39.00	1 / square foot	\$39.00
Produc	t Code:	Supplier Product Code:		

8/28/2024 p. 4

Safety Surfacing Pricing: See Item 12. B in the technical

Supplier Notes:

\$39.00

1 / square

LACEIVIENT OF	113	Trusis		
-01-07 specifications for o	details - First Offer		foot	
Product Code:		Supplier Product Code:		
Agency Notes:		Supplier Notes:		
25711- Safety Surfacing Pricing: See Item 12.		\$34.00	1 1 1 1 1	\$34.00
-01-08 specifications for c			foot	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
25711- Safety Surfacing Pricing: See Item 12.		\$29.00	1 / square	\$29.00
-01-09 specifications for o		Ψ23.00	foot	\$25.00
Product Code:		Supplier Product Code:	<u>'</u>	
Agency Notes:		Supplier Notes:		
25711- Safety Surfacing Pricing: See Item 12. -01-10 specifications for o		\$26.50	1 / square foot	\$26.50
Product Code:		Supplier Product Code:		
Agency Notes:		Supplier Notes:		
25711- Safety Surfacing Pricing: See Item 1201-11 specifications for o		\$38.00	1 / square foot	\$38.00
Product Code:		Supplier Product Code:		
Agency Notes:		Supplier Notes:		I
25711- Safety Surfacing Pricing: See Item 12. -01-12 specifications for o		\$38.00	1 / square foot	\$38.00
Product Code:		Supplier Product Code:		
Agency Notes:		Supplier Notes:		+22.00
25711- Safety Surfacing Pricing: See Item 1201-13 specifications for c		\$33.00	1 / square foot	\$33.00
Product Code:		Supplier Product Code:		
Agency Notes:		Supplier Notes:	1 /	#20.00
25711- Safety Surfacing Pricing: See Item 1201-14 specifications for c	details - First Offer	\$28.00	1 / square foot	\$28.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
25711- Safety Surfacing Pricing: See Item 12. -01-15 specifications for o		\$25.50	1 / square foot	\$25.50
Product Code:		Supplier Product Code:		
Agency Notes:		Supplier Notes:		I
25711- Safety Surfacing Pricing: See Item 12. -01-16 specifications for o		\$41.00	1 / square foot	\$41.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
25711- Safety Surfacing Pricing: See Item 12. -01-17 specifications for o		\$41.00	1 / square foot	\$41.00
Product Code:		Supplier Product Code:		
Agency Notes:		Supplier Notes:		
25711- Safety Surfacing Pricing: See Item 12. -01-18 specifications for o		\$36.00	1 / square foot	\$36.00
Product Code:		Supplier Product Code:	Ισοι	
Agency Notes:		Supplier Product Code: Supplier Notes:		
25711- Safety Surfacing Pricing: See Item 1201-19 specifications for o	D in the technical	\$31.00	1 / square foot	\$31.00
Product Code:		Supplier Product Code:	1	
Agency Notes:		Supplier Notes:		
25711- Safety Surfacing Pricing: See Item 1201-20 specifications for o		\$28.50	1 / square foot	\$28.50
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	1	ı
50) 110.003.		Jappiner 140tes.		

25711- Safety Surfacing Pricing: See Item 12. E in the technical specifications for details	No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:
25711- Safety Surfacing Pricing: See Item 12. E in the technical specifications for details	No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:
25711- Safety Surfacing Pricing: See Item 12. E in the technical specifications for details	No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:
25711- Safety Surfacing Pricing: See Item 12. E in the technical specifications for details	No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:
25711- Safety Surfacing Pricing: See Item 12. E in the technical specifications for details	No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:
25711- Safety Surfacing Pricing: See Item 12. F in the technical specifications for details	No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:
25711- Safety Surfacing Pricing: See Item 12. F in the technical specifications for details	No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:
25711- Safety Surfacing Pricing: See Item 12. F in the technical specifications for details	No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:
25711- Safety Surfacing Pricing: See Item 12. F in the technical specifications for details	No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:
25711- Safety Surfacing Pricing: See Item 12. F in the technical specifications for details	No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:
25711- Safety Surfacing Pricing: See Item 12. G in the technica -01-31 specifications for details - First Offer	· ·
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:
25711- Safety Surfacing Pricing: See Item 12. G in the technica -01-32 specifications for details - First Offer	i i i i i i i i i i i i i i i i i i i
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:
25711- Safety Surfacing Pricing: See Item 12. G in the technica -01-33 specifications for details - First Offer	\$36.00 1 / square \$36.00
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:
25711- Safety Surfacing Pricing: See Item 12. G in the technica -01-34 specifications for details - First Offer	\$31.00 1 / square \$31.00
Specifications for details - First Offer	1000

City of Oklahoma City and

LACEME	INT OF	s Trusts		
Product	t Code:	Supplier Product Code:		
Agency	Notes:	Supplier Notes:		
25711- -01-35	Safety Surfacing Pricing: See Item 12. G in the technical specifications for details - First Offer		1 / square foot	\$28.50
Product		Supplier Product Code: Supplier Notes:		
				Lot Total: \$832.50
Item				
#	Line Item	Unit Price	Qty/Unit	Total Price
25711- -02-01	Bid Attachments: Product Specifications and Data - First Offer		1 / each	
Product Agency		systems in the state of Okla	homa, includir	y authorized installer of Flecks ng Play Flecks, Water Flecks and er of TPR in the United States.
25711- -02-02	Bid Attachments: Warranty - First Offer		1 / each	
Product Agency		Supplier Product Code: Supplier Notes:		
25711- -02-03	Bid Attachments: Installer Qualifications - First Offer		1 / each	
Product Agency		across the US, with pool degym and garage application	cks, playgroun ns. Certified ins nd Deck Flecks.	vears of installation experience all d, splash pads, walkways, patios, taller of Flecks systems, including . Owner/Operator, as well as al franchise trainer.
25711- -02-04	Bid Attachments: W-9 - First Offer		1 / each	
Product Agency		Supplier Product Code: Supplier Notes:		
				Lot Total: \$0.00
		ngee Wagner Irchasing Agent		Tim Alvarez Auditor
	City Citik	n chasing Agent		Auuitui

THE BID COMMITTEE DOES NOT REJECT OR ACCEPT BIDS. The noting or failing to note on the bid tabulation any defect by the Bid Committee is not conclusive of the validity, regularity, completeness or legality of any bid. Questions regarding bid defects or irregularities should be directed to the Municipal Counselor's Office at (405) 297-2451.

Bid Committee Bid Tab

THE BID COMMITTEE WILL MEET IN THE CITY CLERK'S CONFERENCE ROOM, 200 N. WALKER 2ND FLOOR, MUNICIPAL BUILDING, AT 10:00 A.M. OR LATER.

Bid #OCWUT 34-24 - Belt Filter Press Pre-Procurement

Creation Date **Jul 31, 2024** End Date **Aug 28, 2024 10:00:00 AM CDT**

Start Date Aug 14, 2024 8:05:10 AM CDT Awarded Date Not Yet Awarded

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
BDP Industries, Inc	First Offer - \$475,000.00	2 / each	\$950,000.00	Ú	Ú
Product Code: Agency Notes:		Supplier Product Supplier Notes: B Scope of Supply at	id Form B Technical Su	bmission a	and
Charter Machine	First Offer - \$534,869.00	2 / each	\$1,069,738.00		<u>J</u>
Product Code:		Supplier Product	 Code:		
Agency Notes:		Supplier Notes: U			
ENVIRONMENTAL IMPROVEMENTS, INC. (ei2)	First Offer - \$752,824.50	2 / each	\$1,505,649.00	Û	J
Product Code: Agency Notes:		Supplier Product Supplier Notes: This unit will have: Alfa Laval proposa Two BFPs. Alfa Lav lump sum price of		nes as deso Fotal Price Ilter Presso gle machin	cribed ir is for es for a e is

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
BDP Industries, Inc	First Offer - \$50,000.00	2 / each	\$100,000.00		(i)
Product Code: Agency Notes:		Supplier Product (Supplier Notes: Ac	Code: Ider for 316 Stainless :	Steel Mach	nine
<u>Charter Machine</u> Product Code: Agency Notes:	First Offer - \$614,235.00	2 / each Supplier Product (Supplier Notes: Us			Ð
ENVIRONMENTAL IMPROVEMENTS, INC. (ei2)	First Offer - \$816,785.00	2 / each	\$1,633,570.00	Ú	Ú
Product Code: Agency Notes:		Section 2.1 but will Total Price is for Tw Presses for a lump	described in Alfa Laval have 316 stainless ste o BFPs. Alfa Laval is bi sum price of \$1,633,5 please contact Alfa La	el in lieu of dding two 70.00. If a s	f 304 SS Belt Filt single

Unit Price Qty/Unit

2 / each

First Offer - \$200,000.00

Total Price

\$400,000.00

Attch.

Docs

OCWUT 34-24--01-03 Group 1 - Belt Filter Press System Pricing: Alternate 2

Supplier

BDP Industries, Inc

Product Code: Agency Notes:	Supplier Product Co Supplier Notes: Add			
Product Code: Agency Notes:	Alfa Laval proposal C Two BFPs. Alfa Laval lump sum price of \$	\$1,505,649.00 ode: 04 stainless steel fram 0072856 section 2.1. T is bidding two Belt Fil 1,505,649.00. If a sing act Alfa Laval for a revi	otal Price ter Presse e machin	is for es for a e is

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
BDP Industries, Inc	First Offer - \$2,877.54	1 / each	\$2,877.54	Ú	Ú
Product Code: Agency Notes:		Supplier Product Consumplier Notes:	ode:		
ENVIRONMENTAL IMPROVEMENTS, INC. (ei2)	First Offer - \$3,400.00	1 / each	\$3,400.00	Ú	Ú
Product Code: Agency Notes:		Supplier Product Control Supplier Notes: Price for spare parts	are valid for 90 days.		

Charter Machine	First Offer - \$22,815.00	1 / each	\$22,815.00	Û
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
BDP Industries, Inc	First Offer - \$2,862.72	1 / each	\$2,862.72		Ú
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
ENVIRONMENTAL IMPROVEMENTS, INC. (ei2)	First Offer - \$3,390.00	1 / each	\$3,390.00	Ú	Ú
Product Code: Agency Notes:			s are valid for 90 days. gravity section. This thir		

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
NVIRONMENTAL IMPROVEMENTS, INC. (ei2)	First Offer - \$27.00	1 / each	\$27.00	Ū	Ú
Product Code:		Supplier Product C	Code:	'	
Agency Notes:		Supplier Notes:			
		Price for spare parts	s is valid for 90 days.		

BDP Industries, Inc	First Offer - \$1,659.34	1 / each	\$1,659.34	Ú)
Product Code: Agency Notes:	Supplier Product Co Supplier Notes:	ode:		

OCWUT 34-2402-04 Group 2- Spare Parts Pricing: Showe	ers/Spray Nozzles				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
ENVIRONMENTAL IMPROVEMENTS, INC. (ei2)	First Offer - \$0.00	1 / each	\$0.00	Ú	Ū
Product Code: Agency Notes:		Supplier Product Coc Supplier Notes: N/A - these parts have		ated.	
PDD Industries Inc	First Offer - \$19.32	1 / each	¢10.22		- A
BDP Industries, Inc	First Offer - \$19.32		\$19.32		Ú
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes: 1009		per Machi	ne

OCWUT 34-2402-05 Group 2- Spare Parts Pricing: Bearings								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
BDP Industries, Inc	First Offer - \$616.12	1 / each	\$616.12		Ú			
Product Code: Agency Notes:		Supplier Product Supplier Notes: P Bearing	Code: B22439E7E7CSS - 2-7/16	5" 2-Bolt Pil	low Block			
ENVIRONMENTAL IMPROVEMENTS, INC. (ei2)	First Offer - \$800.00	1 / each	\$800.00	J	J			
Agency Notes:		Supplier Product Code: Supplier Notes: Price for spare parts is valid for 90 days. Pressure Section.						

OCWUT 34-2402-06 Group 2- Spare Parts Pricing: Bearings							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
BDP Industries, Inc	First Offer - \$458.13	1 / each	\$458.13		Ú		
Product Code:		Supplier Product Co	ode:				
Agency Notes:		Supplier Notes: 421	267 - 85mm Direct Mo	ount			
ENVIRONMENTAL IMPROVEMENTS, INC. (ei2)	First Offer - \$500.00	1 / each	\$500.00	Ú	(j)		

Product Code:		Supplier Broduct Co	ado:		
Agency Notes:		Supplier Product Co	de: e for spare parts is vali	id for 90 da	vs
Agency Notes.		Gravity Section.	e for spare parts is van	id idi 50 da	ys.
		diavity Section.			
OCWUT 34-2402-07 Group 2- Spare Parts Pricing: Bearing	ngs				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
BDP Industries, Inc	First Offer - \$334.19	1 / each	\$334.19		Ú
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: 421	o de: 265 - 75mm Direct Mo	ount	
ENVIRONMENTAL IMPROVEMENTS, INC. (ei2) Product Code:	First Offer - \$450.00	1 / each Supplier Product Co	\$450.00 ode:		Û
Agency Notes:		Supplier Notes: Price	e for spare parts is val	id for 90 da	ays. Oth
gency Notes:				id for 90 da	ays. Oth
Agency Notes:		Supplier Notes: Price		id for 90 da	ays. Otl
Agency Notes:		Supplier Notes: Price		id for 90 da	ays. Otl

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
ENVIRONMENTAL IMPROVEMENTS, INC. (ei2)	First Offer - \$0.00	1 / each	\$0.00		Ú
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: N/A			
BDP Industries, Inc Product Code:	First Offer - \$852.37	1 / each Supplier Product Co	\$852.37		Ú)
Agency Notes:			22439E7E7CSS - 2-7/16	" Take-Up	

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
BDP Industries, Inc	First Offer - \$325.00	1 / each	\$325.00		Ú
Product Code: Agency Notes:		Supplier Product Supplier Notes: 3-	Code: 310-98 (P3) - Press Doc	tor Blade (Set of 2)
ENVIRONMENTAL IMPROVEMENTS, INC. (ei2)	First Offer - \$1,020.00	1 / each	\$1,020.00		Ū
Product Code: Agency Notes:		Rubber seals. Price	Code: rice for spare parts is va is per foot. Approx. 20 lacement. Unit Price pe	0 feet will b	e neede

Unit Price	Qty/Unit	Total Price	Attch.	Docs
First Offer - \$118.00	1 / each	\$118.00		Ú
	Supplier Notes: Price	ce for spare parts is val	id for 90 da	ays.
First Offer - \$265.00	1 / each	\$265.00		J
First Offer - \$265.00	Supplier Product Co		tor Blade	Ú
First Offer - \$265.00	Supplier Product Co	ode:	tor Blade	Û
		Unit Price Qty/Unit First Offer - \$118.00 1 / each Supplier Product C Supplier Notes: Price	Unit PriceQty/UnitTotal PriceFirst Offer - \$118.001 / each\$118.00Supplier Product Code:	Unit Price Qty/Unit Total Price Attch. First Offer - \$118.00 1 / each \$118.00 Supplier Product Code: Supplier Notes: Price for spare parts is valid for 90 days.

Unit Price

First Offer - \$126.00

Qty/Unit

Supplier Product Code:

Scraper blades - wedge.

1 / each

Total Price

Supplier Notes: Price for spare parts is valid for 90 days.

\$126.00

Attch.

Docs

OCWUT 34-24--02-11 Group 2- Spare Parts Pricing: Wear Items

ENVIRONMENTAL IMPROVEMENTS, INC. (ei2)

Supplier

Product Code:

Agency Notes:

BDP Industries, Inc	First Offer - \$340.00	1 / each	\$340.00		Ŋ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: 3-7' (Set of 4)	ode: 10-1494 (P2) Set of Pre	ess Shower	Box Seals

OCWUT 34-2402-12 Group 2- Spare Parts Pricing: Wear	Items				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
ENVIRONMENTAL IMPROVEMENTS, INC. (ei2)	First Offer - \$19.00	1 / each	\$19.00		Ú
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Prio Chicane Blades.	ode: ce for spare parts is va	lid for 90 da	ays.
BDP Industries, Inc	First Offer - \$300.00	1 / each	\$300.00		Ú
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: 3-3	ode: 10-858 (P1) - Feedbox	Seal	

Supplier	Unit Pric	e Qty/Unit	Total Price	Attch.	Docs
ENVIRONMENTAL IMPROVEMENTS, INC. (ei2)	First Offer - \$71.0	0 1 / each	\$71.00		Ú
Product Code:		Supplier Product	Code:		
Agency Notes:		Supplier Notes: P	rice for spare parts is va	id for 90 d	ays.
		Gravity section grid	d bars.		

BDP Industries, Inc First Offer - \$340.00 1 / each \$340.00	0 0
Product Code: Supplier Product Code:	
Agency Notes:Supplier Notes: 3-310-236 (P2) - Guide	Rail Seal (Set of 2)

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
ENVIRONMENTAL IMPROVEMENTS, INC. (ei2)	First Offer - \$0.00	1 / each	\$0.00		Ú
Product Code:		Supplier Product C	ode:		
Agency Notes:		Supplier Notes: N/A	A		
BDP Industries, Inc	First Offer - \$250.00	1 / each	\$250.00		J
Product Code:		Supplier Product Co			
Agency Notes:		Supplier Notes: 3-3	10-1421 (P2) - Transitio	n Seal	
		I			

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
ENVIRONMENTAL IMPROVEMENTS, INC. (ei2)	First Offer - \$0.00	1 / each	\$0.00		Ú
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: N/A			

BDP Industries, Inc	First Offer - \$60.00	1 / each	\$60.00	(i)
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: 3-71 Three per Machine	o de: 10-1000 (P2) - Aligning P	addle Wear Plate,

OCWUT 34-2402-16 Group 2- Spare Parts Pricing: V	Vear It	ems				
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
ENVIRONMENTAL IMPROVEMENTS, INC. (ei2)		First Offer - \$0.00	1 / each	\$0.00		Ú
Product Code:			Supplier Product Co			
Agency Notes:			Supplier Notes: N/A	1		
BDP Industries, Inc		First Offer - \$340.00	1 / each	\$340.00		Ú
Product Code:			Supplier Product Co	ode:		
Agency Notes:				10-576 (P2) Set of GBT	Shower Bo	ox Seals
			(Set of 4)			

OCWUT 34-2402-17 Group 2- Spare Parts Pricing: Wear Items									
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs			
ENVIRONMENTAL IMPROVEMENTS, INC. (ei2)		First Offer - \$0.00	1 / each	\$0.00		Ú			
Product Code: Agency Notes:	•		Supplier Product Co Supplier Notes: N/A						

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
ENVIRONMENTAL IMPROVEMENTS, INC. (ei2)	First Offer - \$42.00	1 / each	\$42.00		Ú
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Prio Hydraulic filter.	ode: ce for spare parts is val	id for 90 d	ays.
BDP Industries, Inc	First Offer - \$144.42	1 / each	\$144.42		Ú
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: HCo	ode: G200FRN4Z - Pressure	Filter	

OCWUT 34-2402-19 Group 2- Spare Parts Pricing: Hydrau	ılic Power Unit Spare P	arts			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
ENVIRONMENTAL IMPROVEMENTS, INC. (ei2)	First Offer - \$0.00	1 / each	\$0.00		Ú
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: N/A	ode:		
BDP Industries, Inc	First Offer - \$31.86	1 / each	\$31.86		Ú
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: FEE			

OCWUT 34-2402-20 Group 2- Spare Parts Pricing: Hydra	ulic Power Unit Spare Pa	arts			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
ENVIRONMENTAL IMPROVEMENTS, INC. (ei2)	First Offer - \$0.00	1 / each	\$0.00		Ú
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: N/A	ode:		
BDP Industries, Inc	First Offer - \$600.00	1 / each	\$600.00		Ú
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: AW			

OCWUT 34-2402-21 Group 2- Spare Parts Pricing: Hydra	ulic Power Unit Spare P	arts			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
ENVIRONMENTAL IMPROVEMENTS, INC. (ei2)	First Offer - \$0.00	1 / each	\$0.00		Ú
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: N/A			
BDP Industries, Inc	First Offer - \$440.00	1 / each	\$440.00		(j)
Product Code: Agency Notes:		Supplier Product Co	ode: Grade 220 - Gearbox	Oil	
			0.000 220	.	

OCWUT 34-2402-22 Group 2- Spare Parts Pricing: Hydra	ulic Power Unit Spare P	arts			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
ENVIRONMENTAL IMPROVEMENTS, INC. (ei2)	First Offer - \$0.00	1 / each	\$0.00		Ú
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: N/A	ode:		
BDP Industries, Inc	First Offer - \$180.00	1 / each	\$180.00		Ú
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: L-4			

OCWUT 34-2402-23 Group 2- Spare Parts Pricing: Hydra	aul	ic Power Unit Spare Pa	arts			
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
ENVIRONMENTAL IMPROVEMENTS, INC. (ei2)		First Offer - \$0.00	1 / each	\$0.00		Ú
Product Code: Agency Notes:			Supplier Product Co Supplier Notes: N/A	ode:		
BDP Industries, Inc		First Offer - \$180.49	1 / each	\$180.49		Ú
Product Code: Agency Notes:			Supplier Product Co Supplier Notes: PRV	ode: /2-10-K-0-20/SS - Press	sure Reduc	ing Valve

OCWUT 34-2402-24 Group 2- Spare Parts Pricing: Hydra	ulic Power Unit Spare Parts			
Supplier	Unit Price Qty/	'Unit Total Price	Attch.	Docs

ENVIRONMENTAL IMPROVEMENTS, INC. (ei2)	First Offer - \$0.00	1 / each	\$0.00	Ū	
Product Code:		Supplier Product Co	de:		
Agency Notes:		Supplier Notes:			
		N/A			

OCWUT 34-2402-25 Group 2- Spare Parts Pricing: Hydraulic Power Unit Spare Parts								
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs		
ENVIRONMENTAL IMPROVEMENTS, INC. (ei2)		First Offer - \$0.00	1 / each	\$0.00		Ú		
Product Code:			Supplier Product C	ode:				
Agency Notes:			Supplier Notes:					
			N/A					

OCWUT 34-2402-26 Group 2- Spare Parts Pricing: Hydraulic Power Unit Spare Parts								
Supplier	Τ	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
ENVIRONMENTAL IMPROVEMENTS, INC. (ei2)		First Offer - \$0.00	1 / each	\$0.00		Ú		
Product Code:			Supplier Product C	ode:				
Agency Notes:			Supplier Notes:					
			N/A					

OCWUT 34-2402-27 Group 2- Spare Parts Pricing: Electri	cal Spare Parts				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
ENVIRONMENTAL IMPROVEMENTS, INC. (ei2)	First Offer - \$0.00	1 / each	\$0.00		Ú
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: N/A	ode:		
BDP Industries, Inc	First Offer - \$22.41	1 / each	\$22.41		Ú
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: RH3	o de: BB-UL-120VAC - 3 Pole	Relay	

OCWUT 34-2402-28 Group 2- Spare Parts Pricing: El	lectric	al Spare Parts				
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
ENVIRONMENTAL IMPROVEMENTS, INC. (ei2)		First Offer - \$0.00	1 / each	\$0.00		Ú
Product Code: Agency Notes:			Supplier Product Co Supplier Notes: N/A	ode:		
BDP Industries, Inc		First Offer - \$14.24	1 / each	\$14.24		Ú
Product Code: Agency Notes:			Supplier Product Co Supplier Notes: RH.	ode: 2B-UL-120VAC - 2 Pole	Relay	

OCWUT 34-2402-29 Group 2- Spare Parts Pricing: Electr	OCWUT 34-2402-29 Group 2- Spare Parts Pricing: Electrical Spare Parts					
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
ENVIRONMENTAL IMPROVEMENTS, INC. (ei2)		First Offer - \$0.00	1 / each	\$0.00		Ú
Product Code: Agency Notes:			Supplier Product Co Supplier Notes: N/A	ode:		
BDP Industries, Inc		First Offer - \$324.00	1 / each	\$324.00		Ú
Product Code: Agency Notes:			Supplier Product Co Supplier Notes: 802	o de: MC-AY5 - Limit Switch		

OCWUT 34-2402-30 Group 2- Spare Parts Pricing: Electri	ical Spare Parts				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
ENVIRONMENTAL IMPROVEMENTS, INC. (ei2)	First Offer - \$0.00	1 / each	\$0.00		Ú
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: N/A	ode:		
BDP Industries, Inc	First Offer - \$283.94	1 / each	\$283.94		Ú
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: 871 Zero Speed	o de: TM-BH8N18-H2 - Prox	ximity Swito	ch, 18mn

OCWUT 34-2402-31 Group 2- Spare Parts Pricing: Electrical Spare Parts								
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs		
ENVIRONMENTAL IMPROVEMENTS, INC. (ei2)		First Offer - \$0.00	1 / each	\$0.00		Ú		
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	ode:				
			N/A					

OCWUT 34-2402-32 Group 2- Spare Parts Pricing: Electrical Spare Parts								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
ENVIRONMENTAL IMPROVEMENTS, INC. (ei2)	First Offer - \$0.00	1 / each	\$0.00		Ú			
Product Code:		Supplier Product Co	ode:					
Agency Notes:		Supplier Notes:						
		N/A						

OCWUT 34-2402-33 Group 2- Spare Parts Pricing: Electrical Spare Parts								
Unit Price	Qty/Unit	Total Price	Attch.	Docs				
First Offer - \$0.00	1 / each	\$0.00		J				
Product Code:		Supplier Product Code:						
	Supplier Notes:							
	N/A							
	Unit Price	Unit Price Qty/Unit First Offer - \$0.00 1 / each Supplier Product Co	Unit Price Qty/Unit Total Price First Offer - \$0.00 1 / each \$0.00 Supplier Product Code: Supplier Notes:	Unit Price Qty/Unit Total Price Attch. First Offer - \$0.00 1 / each \$0.00 Supplier Product Code: Supplier Notes:				

OCWUT 34-2402-34 Group 2- Spare Parts Pricing: Electrical Spare Parts							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
ENVIRONMENTAL IMPROVEMENTS, INC. (ei2)	First Offer - \$0.00	1 / each	\$0.00		Ú		
Product Code:		Supplier Product Co	de:				
Agency Notes:		Supplier Notes:					
		N/A					

OCWUT 34-2402-35 Group 2- Spare Parts Pricing: Electrical Spare Parts								
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs		
ENVIRONMENTAL IMPROVEMENTS, INC. (ei2)		First Offer - \$0.00	1 / each	\$0.00		J		
Product Code: Agency Notes:			Supplier Product Co Supplier Notes: N/A	ode:				

OCWUT 34-2402-36 Group 2- Spare Parts Pricing: Electrical Spare Parts								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
ENVIRONMENTAL IMPROVEMENTS, INC. (ei2)	First Offer - \$0.00	1 / each	\$0.00		Ú			
Product Code:		Supplier Product Co	de:					
Agency Notes:		Supplier Notes:						
		N/A						

OCWUT 34-2403-01 Group 3 - Labor: Labor Rate for Fac	ctory Service				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
BDP Industries, Inc	First Offer - \$175.00	1 / hour	\$175.00	Ú	Ú
Product Code:		Supplier Product Co	ode:		
Agency Notes:		Supplier Notes: Plea	ase see attached.		
ENVIRONMENTAL IMPROVEMENTS, INC. (ei2)	First Offer - \$2,000.00	1 / hour	\$2,000.00		Ū
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Labor Rate for factor	ode: y service is offered or	n a per day	

OCWUT 34-2403-02 Group 3 - Labor: Labor Rate for Field Maintenance						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
BDP Industries, Inc	First Offer - \$175.00	1 / hour	\$175.00		Ú	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Plea	ode: ase see attached to pr	evious field		
ENVIRONMENTAL IMPROVEMENTS, INC. (ei2)	First Offer - \$255.00	1 / hour	\$255.00		Ú	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: The total price (\$2,040.00/day) is based on an 8/hr per day weekday rate. This rate is applicable for any time traveling or spent on site up to a maximum of 8 hours. This price includes all expenses except airfare, plus a half hour of travel to and from a hotel per day. This price is portal to portal.				

OCWUT 34-24-04-01 Group 4 - Acknowledgement: Acknowledgement for Technical Submission Requirements					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
BDP Industries, Inc	First Offer -	1 / each		Ú	Ú
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Bid Form B was checked in the Document Section of the Bid Submission and technical proposal attached here.			
ENVIRONMENTAL IMPROVEMENTS, INC. (ei2)	First Offer -	1 / each			Ú
Agency Notes:		Supplier Product Code: Supplier Notes: Yes			

Supplier Totals

BDP Industries, Inc

f <u>ENVIRONMENTAL IMPROVEMENTS, INC. (ei2)</u> \$4,657,086.00 (42/42 items)

Bid Contact JAIMIE ALEMOND Address 517 N KEALY

mledger@ei2dallas.com LEWISVILLE, TX 76262

Ph 972-436-2536

Agency Notes: Supplier Notes: Head Attch:

\$1,464,471.09 (32/42 items)

Bid Contact **Dan Fronhofer** Address **PO Box 118**

dan@bdpindustries.com Greenwich, NY 12834

Ph 518-796-1440

Bid Notes Adders from Specification Section 11420-P Belt Filter Press Dewatering Units

Adder for paddlewheel distributor - \$17,000 per press (Total of \$34,000)

Adder for gravity belt automatic filtrate pan and overhead washdown - \$12,000 per press (Total of \$24,000)

Adder for hydraulic plow lift - \$9,000 per press (Total of \$18,000)

Agency Notes:	Supplier Notes: Adders from Specification Section 11420-P Belt Filter Press Dewatering Units			
	Adder for paddlewheel distributor - \$17,000 per press (Total of \$34,000) Adder for gravity belt automatic filtrate pan and overhead washdown - \$12,000 per press (Total of \$24,000) Adder for hydraulic plow lift - \$9,000 per press (Total of \$18,000)			
Charter Machine	\$2,321,023.00 (3/42 items)			
Bid Contact Devry Faddis devryf@chartermachine.com Ph 602-877-3444	Address 55 Wester Ave Metuchen, NJ 08840			
Agency Notes:	Supplier Notes:			
*All bids (company) and a company of souther design and a company of souther and a company of souther design and a company of				

	Print Close	
Tresha Williams	Angee Wagner	Tim Alvarez
City Clerk	Angee Wagner Purchasing Agent	Auditor
City Citi	Fulchasing Agent	Auditor

THE BID COMMITTEE DOES NOT REJECT OR ACCEPT BIDS. The noting or failing to note on the bid tabulation any defect by the Bid Committee is not conclusive of the validity, regularity, completeness or legality of any bid. Questions regarding bid defects or irregularities should be directed to the Municipal Counselor's Office at (405) 297-2451.

^{**}All bids/proposals submitted for the designated project are reflected on this tabulation sheet. However, the listing of the bid/proposal on this tabulation sheet shall not be construed as a comment on the responsiveness of such bid/proposal or as any indication that the agency accepts such bid/proposal as being responsive. The agency will make a determination as to the responsiveness of the vendor responses submitted based upon compliance with all applicable laws, purchasing guidelines and project documents, including but not limited to the project specifications and contract documents. The agency will notify the successful vendor upon award of the contract and, as according to the law, all bid/proposal responses received may be available for inspection at that time.